Multiplying Out Pairs of Brackets
1.
Multiply out the brackets using FOIL:
(a)
(x + 4)(x + 2)

(b)
(x + 3)(x + 5)

(c)
(y + 1)(y + 3)

(d)
(a + 6)(a + 3) 

(e)
(x + 3)(x + 2)

(f)
(p + 5)(p + 1)

(g)
(k + 2)(k + 7)

(h)
(m + 4)(m + 3)

(i)
(t + 6)(t + 2)


(j)
(x + 5)(x + 3)

(k)
(x + 7)(x + 3)

(l)
(y + 4)(y + 5)


(m)
(x + 4)(x + 1)

(n)
(c + 4)(c + 6)

(o)
(u + 2)(u + 9)


(p)
(m + 6)(m + 1)

(q)
(x + 5)(x + 7)

(r)
(3 + x)(4 + x)

2.
Expand using FOIL:

(a)
(x + 3)2
(b)
(a + 4)2
(c)
(c + 6)2
(d)
(p + 5)2
3.
Multiply out the brackets using FOIL:


(a)
(2x + 3)(x + 2)

(b)
(2x + 1)(x + 4)

(c)
(3x + 4)(x + 2)

(d)
(3x + 1)(x + 3)

(e)
(4x + 3)(x + 2)

(f)
(5x + 2)(x + 3)


(g)
(2x + 3)(x + 4)

(h)
(3x + 2)(x + 2)

(i)
(x + 2)(2x + 5)


(j)
(2x + 4)(x + 3)

(k)
(x + 5)(3x + 2)

(l)
(x + 3)(4x + 3)

(m)
(2x + 1)(2x + 3)
(n)
(3x + 2)(2x + 3)
(o)
(4x + 3)(2x + 1)

4.
Expand: using FOIL:


(a)
(2x + 5)2
(b)
(3x + 2)2
(c)
(3t + 4)2
(d)
(4a + 5)2
5.
Copy and complete (check your answer by multiplying out the brackets using FOIL):


(a)
x2 + 7x + 10 = (x +   )(x +   )

(b)
x2 + 5x + 6 = (x +   )(x +   )



(c)
a2 + 9a + 14 = (a +   )(a +   )

(d)
y2 + 7y + 12 = (y +   )(y +   )


(e)
t2 + 5t + 4 = (t +   )(t +   )

(f)
x2 + 6x + 8 = (x +   )(x +   )


(g)
c2 + 8c + 15 = (c +   )(c +   )

(h)
n2 + 10n + 16 = (n +   )(n +   )

(i) p2 + 9p + 8 = (p +   )(p +   )

(j)
x2 + 10x + 21 = (x +   )(x +   )
(k)
2x2 + 7x + 6 = (2x +   )(x +   )

(l)
2x2 + 11x + 14 = (2x +   )(x +   )

(m)
3x2 + 8x + 4 = (3x +   )(x +   )

(n)
3x2 + 8x + 5 = (3x +   )(x +   )

(o)
4x2 + 9x + 2 = (4x +   )(x +   )

(p)
5x2 + 14x + 8 = (5x +   )(x +   )
ANSWERS
1.
(a)
x2 + 6x + 8

(b)
x2 + 8x + 15

(c)
y2 + 4y + 3

(d)
a2 + 9a + 18

(e)
x2 + 5x + 6

(f)
p2 + 6p + 5


(g)
k2 + 9k + 14

(h)
m2 + 7m + 12

(i)
t2 + 8t + 12


(j)
x2 + 8x + 15

(k)
x2 + 10x + 21

(l)
y2 + 9y + 20


(m)
x2 + 5x + 4

(n)
c2 + 10c + 24

(o)
u2 + 11u + 18


(p)
m2 + 7m + 6

(q)
x2 + 12x + 35

(r)
12 + 7x + x2
2.
(a)
x2 + 6x + 9

(b)
a2 + 8a + 16

(c)
c2 + 12c + 36


(d)
p2 + 10p + 25

3.
(a)
2x2 + 7x + 6

(b)
2x2 + 9x + 4

(c)
3x2 + 10x + 8

(d)
3x2 + 10x + 3

(e)
4x2 + 11x + 6

(f)
5x2 + 17x + 6


(g)
2x2 + 11x + 12

(h)
3x2 + 8x + 4

(i)
2x2 + 9x + 10


(j)
2x2 + 10x + 12

(k)
3x2 + 17x + 10

(l)
4x2 + 15x + 9


(m)
4x2 + 8x + 3

(n)
6x2 + 13x + 6

(o)
8x2 + 10x + 3

4.
(a)
4x2 + 20x + 25

(b)
9x2 + 12x + 4

(c)
9t2 + 24t + 16


(d)
16a2 + 40a + 25

5.
(a)
x2 + 7x + 10 = (x + 5)(x + 2)

(b)
x2 + 5x + 6 = (x + 3)(x + 2)



(c)
a2 + 9a + 14 = (a + 7)(a + 2)

(d)
y2 + 7y + 12 = (y + 4)(y + 3)


(e)
t2 + 5t + 4 = (t + 4)(t + 1)

(f)
x2 + 6x + 8 = (x + 4)(x + 2)


(g)
c2 + 8c + 15 = (c + 5)(c + 3)

(h)
n2 + 10n + 16 = (n + 8)(n + 2)

(i) p2 + 9p + 8 = (p + 8)(p + 1)

(j)
x2 + 10x + 21 = (x + 7)(x + 3)
(k)
2x2 + 7x + 6 = (2x + 3)(x + 2)

(l)
2x2 + 11x + 14 = (2x + 7)(x + 2)

(m)
3x2 + 8x + 4 = (3x + 2)(x + 2)

(n)
3x2 + 8x + 5 = (3x + 5)(x + 1)

(o)
4x2 + 9x + 2 = (4x + 1)(x + 2)

(p)
5x2 + 14x + 8 = (5x + 4)(x + 2)
